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Instructions

® Use black ink or black ball-point pen. Draw diagrams in pencil.

® Fill in the boxes at the top of this page.

® Answer all questions.

® You must answer the questions in the spaces provided. Do not write outside the
box around each page or on blank pages.

® Do all rough work in this book.

Information

® The marks for questions are shown in brackets.

® The maximum mark for this paper is 54.

® The quality of your written communication is specifically assessed
in Questions 7 and 10. These questions are indicated with an asterisk (*).

® You may ask for more answer paper and graph paper. These must be tagged
securely to this answer book.

Advice
® |n all calculations, show clearly how you work out your answer.
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Answer all questions in the spaces provided.

1 In a game players score points.
The table shows the number of points Alex scored in 50 games.

Number of points Number of games
0 13
1 8
2 6
3 8
4 15
Total = 50
1 (a) To win a game, you have to score 4 points.

What percentage of the 50 games did Alex win?

; o e i
Answer 30 .................... % (2 marks) |
1 (b) Alex says he scored more than 100 points in total.

Show that he is correct.

Totel no. of paints. = 13(2)* 8(1)+ 4(2)+ $(3)

+ ’5%’) = 1O, whih (s caker Ehan 1O0D.

(3 marks)

NI
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2 In a cafe, a customer orders one drink.

The probability that he orders tea is 0.42
The probability that he orders coffee is 0.3

3 Use your calculator to work out /30 + 80 x l— as a decimal.

3 (a) Write down your full calculator display.

F-OFIO6FR Q.

ASWET 5scrunsansnsbas s s ot i e et e s (1 mark)

3 (b) Give your answer to part (a) to 3 significant figures.

.
ANSWET ..oiievieeeiorsineinsnrssassas s amsesssnssssssssisnssssssssiosss (1 mark)

Turn over for the next question

Turn over p

L
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A student draws three scatter diagrams.
She draws a line of best fit on each one.

Diagram A

Diagram B

Do not write
outside the
box
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4 (a) Which diagram shows the strongest correlation?
Circle your answer.

o

4 (b) Which line of best fit should not have been drawn?
Give a reason for your answer.

The. 0 Logmkm“dﬁg%fanmjﬁ ..... ‘ébQAkﬁgmohmeM@nbﬂgmmghmuwf%

as.the poicks. are ro\r\c{om(_va dgkeibukeel Wit no cqrrelp&'\om

5 A toy is made from red bricks and yellow bricks.

Number of red bricks : number of yellow bricks = 5 : 2
There are 210 more red bricks than yellow bricks.

How many red bricks are in the toy?

\{ &= ,2’_— =) = - e - L’Lg-_- 1
REAS L R A IO SR
R = 14o+lo = 350 ‘

Answer ................ ?DS—O ................................. (3 marks)

Turn over p

L

WMP/Jun12/43601H



6 Do not write
outside the
box

6 A new road is planned. 3
There are two possible routes, A and B. ,

160 people are asked which route they prefer.

6 (a) Name a suitable data collection method to use.
{ ' )
Answer ..... QU‘ LR OO e (1 mark) |
6 (b) Write a suitable question with a response section. |
Question ... =) hich...of . Ehe.... FD\lgwu\gtwor@&&suw\d

L2 T W *aW@”QFQf? ...........................................................................

Response Section

IQOU\‘CQ A
L Q,Ou&q. \3
DOA”t Raow | Uadecideal .

(2 marks) ‘

6 (c) 27.5% of the 160 people prefer route A.
How many people is this?
31 2 X 82 202 X D
OD
................................................. =5 Sor S
Answer Lk{’l/ ........................................................ (2 marks)

WA
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| *7 Fair spinner A has five equal sections labelled 1, 2, 3, 4, 5.
‘ Fair spinner B has five equal sections labelled 6, 7, 8, 9, 10.
Each spinner is spun once and the numbers are added.
Work out the probability that the total is 12 or more.
(P(o\w&"cikxa SPO\CQ_ 6(:\0& (:or’ SP(nner A+ Spinn&( B :
B[ 2|34 | <
G|+ 819 [lo |t
2127 o1 {12
8 [ o [1]d2)Yi3)
9 Lo |11 a0 e |
o |11 PO S
Pllotal 2.13).2. 03810 or 329 or 3%10 ok
HER.2R . HEA. 0% 4RO ok BEF R HZK.
- o - 2
2R.D&A ok _BAIO N :lS' ............ s o ol—]— |
e
Answer ....... R (5 marks)
Turn over for the next question
* 0
Turn over p
07 WMP/Jun12/43601H



8 (a)

M

Millie records her reaction time with and without glasses.

Reaction time with glasses
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Time, ¢ (seconds) Frequency H‘L‘i‘:f’;f 2\—3{"_‘1.—:
01<r<02 31 ﬁ;&g__-:
02=<1r<03 42 19 _é’”—_l
03==t<04 19 s 65
04<t<05 8 Y
2 —>| Total =100 B j)J:j—':l <-;—-§j(me)

Calculate an estimate of the mean reaction time with glasses.

Mean e fimate = 2 [ “D_::. ....... 254 ~005hs
ZF OO
ATBWEN wmssssuvssisrnnss O Q’S—L't ....... seconds (4 marks)

WMP/Jun12/43601H



9 Do not write
outside the
box

8 (b) The grid shows a frequency polygon for her reaction time without glasses.
On the same grid draw a frequency polygon for her reaction time with glasses.

Reaction time

s

o

40 i AN N

35 T f=\\ [ \'\i’._. T glasses

h-Q

N\

Frequency . Y \\ paes \VIRN
25T ma ——

B ]
e

| 2 e A X SENEETENEENIMANEE

/f
\
\

| s

Y

’ 0 0.05 0.10 0.15 0.20 0.25 0.30 0.35 0.40 0.45 0.50

time, ¢ (seconds)

(2 marks) |

8 (c) An estimate of the mean reaction time without glasses is 0.347 seconds.

Make two comparisons between reaction time with and without glasses.

(2 marks) |——

withodk glesses. 8

L

Turn over p
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Each day a baker makes 60 cakes to sell.
Any cakes not sold are thrown away.

The profit on each cake sold is 40 p.
The loss on each cake not sold is 10 p.

The number of cakes sold on each of five days is shown.

Day Mon Tue Wed Thu Fri

Number of cakes sold 44 38 48 55 60

The baker says,
“If 1 had only made 50 cakes each day;,
the overall profit would have been more.”

Is he correct?
You must show your working.

(5 marks)
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-0 A grocer has 100 boxes of strawberries.

10 (a) He weighs 10 of the boxes.

Which three words describe the data he collects?
Circle your answers.

discrete secondary
(2 marks)
| 10 (b) Name a suitable sampling method to obtain 10 boxes to represent the 100 boxes.

i

Briefly describe how to carry out your method.

Method Romo(om So\m_()la D Sif)gtq,muc Vo,

Turn over for the next question

m@(e, Li. e rmdorr\‘

Sawnple Loith SDS{‘CN\)

Description [Zac...o.C.a0dom... Semple..,. ASSan.. oumbe s, |
1 Lo 100 Lo each box and use oo r o Ao Nurrbe |

(3 marks)
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j 11 The attendance at a hockey match is 1000.
f This number is given to 2 significant figures.

Work out the difference between the maximum and minimum possible attendance.

Lowier bowod = 995 Upper bovoet = 100 (e catinios

which can only take discrete inkeger voluas. loua-1S= Sk

Answer S‘L{/ ................................................... (2 marks)

A
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i

- o o - - o box

The stem-and-leaf diagram shows the number of visitors to a castle over 19 days.

Key: 7|0 represents 70 visitors

Each visitor is charged £6.

For the 19 days, work out the interquartile range of the total amount charged per day.

. - th , 3 '
upfzanM&FkLﬂ&:‘g ........ Jdaka.  ooint 1% ﬁ"—l) ) ............

Turn over for the next question

Turn over p
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| 13 Kate and David are a team in a contest.
‘ They will each have one chance to estimate a minute.

13 (a) Kate has 200 practice attempts.

Kate
A 1
90— , ‘
so-FEEt SiEsizasnited |
oo g
| 0 |
30 |
55
o b | N

0O 58 59 60 61 62 63

Time (seconds)

Based on her practice attempts,

show that the probability that she can estimate a minute to within one second is 0.67

) qu-(;o <t F(,o-—(,l - (i xgo).;.lixgq)
................................................................... T e e T |

.......... L
T D =
(2 marks) |
E’_'_f}__"_ F(’e&’\\/xeﬂcgbia’\%\'\'\.:) = F(Qo\fwmbv) ((:)
lF.D.) Class \aiddl, (CW)
L & F = FDhxCeM.
M
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13 (b) David also has 200 practice attempts.
He estimates a minute to within one second 84 times.

They win the contest if either of them estimates a minute to within one second.

Based on their practice attempts, work out the probability that they win.

Lot K odenote Kate Zakinabine a minute Lo Withina
one secood and T( hev Fo\"x\vxf‘e ko do so .

Ao, Lk D denaste David Ug\-\mg\h:qé A e pke Eo

vokhin one secandl andd 5 \ig (-\m\\ure, to do so-

Plw)= Br .3 & Plo)=- 2= 25

200 - QOO
Pl - 3 D) 55
Pk\,\f\mn\r\é COOE%/\T> 2 \/)\KD oR KD or KD >
o+ (29 ﬁ_kﬂ> «F (_l_i - how?
- | OO\ 5O T LS O * 1 OO §o>

S 00O

PaTESnsTIVE LY | T w’\‘“ﬂzﬁcﬂu@)"— ................................. |

......................................................... oo\ ST goOQ
2 BRB6. A3 8208 e
Answer O%OSG ........................................ (4 marks) |

END OF QUESTIONS
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